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GEOGRAPHY
Paper II

1
Time Allowed : 12 Hours] [Maximum Marks : 100

Note :—This paper contains fifty (50) multiple choice questions. Each question carries

two (2) marks. Attempt A/l of them.
1. Which among the following is not part of physical weathering activity ?
(A) Granular disintegra'tion (B) Exfoliation
(C) Desilication (D) Frost weathering
2. Which among the following is not related with plate tectonic ?
(A) Polar wandering (B) Continental drift
(C) Glacial control theory (D) Sea floor spreading
3. Who among the following propounded the concept of pediplanation cycle ?
(A) L.C. King (B) M. Morisawa

(C) Chorley (D) Strahler
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w:l-} e [quis : 100

AT :3Q U¥A 9A A werH (50) wgfaweda WYA ¥ | W Wed ot (2) FE W ¥ |
wft wEl & T A

1. frofafes 3 3 sn- Jfas smem o & oam @ & 2
(A) wigH faaved (B) &9
(C) Tofegm guamE (D) TUR Y%7
2. frofafas & & 99 < foadf= | dafga 78 & ?
(A) Y §=m (B) WemYE Wae
() ferfie fa=w e - o (D) ¥R Faa gem
3. frfafes § 3 feet Afeeivm W% @1 Seew w1 wwed fe @ ?
(A) was. fEm (B) . wftamEn

(C) = D) wWeH
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4. Which one of the following is itncorrect ?

(A) Tombelo are coastal landform

(B) Sinkholes are feature of limestone region

(C) George and Canyong are glacial landforms

(D) Obsequent streams flow opposite to consequent stream,

5. Who has given the principle of uniformitarianism ?

(A) Brynn . (B) Fasenkoy

(C) Hutton (D) Emanuel Kant
6. Diastrophism ig the gencral term applied for :

(A) Only folding

(B) Bending and warping

(C) Only fracturing

(D)) Slow bending, warping and fracturing
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frefafas § 4 9 0 oW ¢ 2

(A) I e weEa .

(B) fowdet IO-ToR WV # wWenEa €

(C) ﬂmamAmmmaﬁme%

(D) wEEEd weRm W e Aed & fawde verfe @R @
fFaa twmETaER @ gFeqn H1 yweE o ?
(A) = (B) wETHE
(C) = - (D) FHHEA FIE
Tee faequil wuRoR: feas fau w@m few W ® 7
(A) #Haw T

(B) THe@ ¥l HaoH

(C) FHaa WIH

(D) o fd | gEE, dEed a9 WH
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7. Chinook is a very warm and dry local wind blowing in :

(A) Sahara desert ! (B) Southern California
(C) Alps mountain (D) Rocky mountaing
8. Where ig more heat gain than heat loss at :
(A) High latitudes (B) Mid latitudes
(C) Near poles (D) Near equator
9. Where ig the tropieal cyclones called as Willi-Willi ?
(A) China sen (B) U.SA,
(C) India i (D) Australin
10. ‘¢ in Koppen's climutic classification indicates ;
(A) Mesgotherms (B) Xerophytes
(C!) Microtherms (D) Dry climnte

11, Which one is associated with polar-front theory 7
(A) V. Bjerknes (B) Abercromby

(C) Shaw and Lempfert (N  Fitzroy
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10.

11.

fo TH B IO AW YW W@ T TEd ¥

(A) Few weRE B) el Hfaaf 3
(C) 9w waq H (D) U & o

fpq R W oSS0 w Wi g H gen § afew ¥ 7

(A) T=H W (B) WA A

© u& ® Wi D) e ten & @
ot wwam B FE W faet-faodt ww S ¥ 2

(A) HFH §R (B) FTHT

(€ | (D) e

F ® weEy FiEw § ¢ AR T ¥ o

(A) wEETE (B) TR

(C) geu adE - (D) T Saay
frofafas § @ @9 gdE-aam feg ¥ watad &2

(A) &l A (B) UETRE]

(C) wf & & (D) e
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12. Thermal heat concept of monsoon was propounded by :
(A) Halley (B) Flohn
(C) Hadley (D) R. Scherhag

13. Which of the following ocean records minimum temperature at surface

water 7
(A) Pacific ocean (B) Arctic ocean
(C) Atlantic ocean (D) Indian ocean

14. Longest coral reef is found in :
(A) Pacific ocean (B) Arctic ocean
(C) Atlantic ocean (D) Indian ocean

15. At Sydney, tide is experienced at 6.00 am on Sunday than at what time and

day Ebb will occur ?
(A) 6.26 pm Sunday (B) 12.13 pm Sunday

(C) 6.52 am Monday (D) 12.13 pm Monday
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12. WEYA # warda e @ gfeoes e oan
(A) ®t A (B) M A

(C) =& A D) R F@wm 3

13. Ty wgmrr § 5@ # Gag W aueE SEed B ¥ 2

(A) WIS WY (B) FRfes HEMEMR

(C) 31/ WM (D) fe= meER

14. wog &t ware fafa ad st & oo

(A) WY WEErW o (B) #fes meErR #

(C) 37 WEErR H (D) fe= wemrR

15. fa=t § wan Woar w@: 6.00 &9 IyE & T @@ e W=

AT :
(A) 6.26 pm TEFaR (B) 12.13 pm I&ER

L3
(C) 6.52 am HHAK (D) 12.13 pm HHaW
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16. Which one of the following ecosystems is shrinking due to climate

change ?
(A) Desert (B) Equatorial

(C) Arctic (D) Mediterranean

17. Who stated “History must be treated geographically and all geography must

be treated historically” ?

{A) Hecatacus (B) Ptolemy

(C) Herodotus (D) Homer
18. School of ;:ultural geography was developed by :

(A) C.O. Sauer (B) O.H.K. Spate

(C) E.W. Zimmermann (D) AL. Ackerman
19. Who coined the. term ‘Anthropogeographic’ ?

(A) Sample (B) Ptolemy

(C) Ratzel (D) Ritter
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16.

17.

18.

19.

frofatea 4 w55-@t wfifcufas seem ofmds § swo d@ifme & @

g 2
(A) wFEEgEE (B) Tag=a Y&y
(C) 2mehfew (D)  YHHEIEE

fegy =m ¥ & ''Ifoem # w1 @ 99 yia F 3aEm 1 wWE 99 S

-am ? "
(A) Tfram ' (B) et
(C) ferzes D) &

wipiow e faoem Fed gu fasfes fea mn 2

(A) H1. 3 wE (B) 30 uw=. @ T
(C) 3 ==y fmwis O) U ue. T
‘mwm'mmmﬁém ?

(A) FE (By fert

(C) = (D) f=x

TBC-1¥15ET-11 11 P.T.O.



20.

21,

22,

23.

24.

Who wrote the book “Kitab-al-Hind ?”

(A) Ibn Batutah (B) Al-Idrisi

(C) Ibn Khaldun t (D) Al-Biruni

Who contributed in diffusion studies ?

(A) Hartshorne (B) Whittlesey

(C) Safi (D) Hagerstrand
Who of the following has written “Models in Geography” ?
(A) Chroley and Hagget (B) Taylor

(C) Richthofen (D) Christller
Which one of the following countries having negative growth of population ?
(A) Nigeria (B) Japan

(C) USA. (D) Brazil

Which one of the following is most populated ?

(A) Brazil | (B) Russia

(C) Pakistan (D) Bangladesh
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20.

21.

22.

23.

24,

Teaa-am-fe' &1 s famn & 2

(A) 3= =g (B) wa-gafsl
(C) %= =g (D)  E-awAl
fagmm segg § fees 9mem G & 7

(A) wEwH (B) feewd

(C) H®H (D) ¥mEE
frefafes 5 | “'aieen 1 <’ #1 @ foam ® 2
(A) el ol Fe (B) &R

(C) f=aw (D) FEem
frefefas 4 ] fog o =t S99 oo 5T 3 TR W OE 2
(A) St (B) =M

(C) 3JTaET (D) =
Frafafen § | FFw v waifye sAgen &1 39 ¥ 2

(A) Wit (B) T

(C) wies=m™ (D) =@y
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25. What will be the shape of settlements along river ?

(A) Trregular (B) Oval

(C) Linear (D) Square

26. ‘City-regions’ is also known as :

(A) Central business district (B) Urban fringe

(C) Urban sphere of influence (D) None of these

27. Triangular industrial location model is related to :

(A) Hoover (B) Losch

(C) Weber (D) Von Thunen

28.  Which one of the following production is closest to market in Von Thunen

model ?
(A) Grains (B) Timber
(C) Meat (D) Vegetables
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25.

26.

Fal & Her fFE smmn & afyam 2 2

(A) sfmfm

(C) Ia=s

"THE-TRY W = o ¥ a2

(A) F<E oofte &3

(C) =R w¥E &3 =1 97

(B)

(D)

(B)

(D)

3UETHT

FTHT

TE U

= | wrd T

TN HET F FEriE wey matyg o,

T T & oo § W IO Wem % fieaw g & 2

27.
(A) T
(C) F=
28.
(A) 3=+
(C) g
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29.

30.

31.

32.

Location of which industry is power intensive ?

(A) Aluminium (B) Paper

(C) Steel ' (D) Electronics
Largest producer of Iron is :

(A) USA. (B) Australia

(C) India (D) China

Largest reserve and production of Natural Gas found in :
(A) Russia (B) Saudi Arabia
(C) USA. (D) Canada

Which one of the following is not Negroids in origin ?
(A) Aborigines (B) Ainu

(C) Bushman (D) Sakai

River Matbhanga divides :

(A) India—Bangladesh (B) India—Myanmar

(C) India—China (D) India—Pakistan
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31

32.

frefafas 8 #98 3g9m =1 =en S oapufa § 2
(A) UgEEs (B) &I

(C) ¥¥mW (D) SeEad
i F wAUw ERE 29 §

(A) I THT (B) asfema
(C) v (D) =™
s g w1 waitus gvel UH IERT TH TR
(A) w9 # ® TR o A
(C) ZJuaw # (D) FAEl H
frofeafem 4 @ feger sofe S wonfa =1 & & 2
(A) eI B) %

(C) (D) T&E
wevm 5 fawfes wwd ¥ ¢

(A) WRd—ETeRY (B) YRA—AMR

(C) WRa—dH (D) wEa—ufEaE
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34.

35.

37.

Which country is not a member of BRICS ?

(A) Bangladesh (B) Russia

(C) India (D) China

Which of the following five year plan introduced area specific development

planning ?
(A) Third (B) Fourth
(C) Fifth (D) Sixth

The exmion of NCR is not in which of the following region ?
(A) Uttarakhand (B) Haryana

(C) Rajasthan ‘ (D) Uttar Pradesh

Which of the following is formal region ?.

(A) Monsoon climatic region (B) Mewat region

(C) City-Umland region (D) Damodar valley corporation

TBC-13¥/15ET-II 18



34, frofafga § 9w 29 foow =1 we= =6 & 2

(A) =R (B) ®4

(C) W& (D) =M

35. Tmafafas 9 8 f&n g=auly giss & a3y fasw Fgsm =1 &

T ?
(A) (B)  =eft
(C) uf=st (D) B

36. . H. 3. T fEm a3 d G 9@ ¥ 2

(A) IHaETE (B) &fgmm

(C) Ty (D) 3T w2y

37. frefafes § 4 9 ®95% Weu & 2

(A) HEgA Soag W8 (B) HaW Wy

(C) T H-Zgais wou (D) =HEET "E FwheE

TBC-13¥15/ET-11 19 P.T.O.



38. Which of the following is associated with Economic Regionalisation of

India ?
(A) R.L. Singh (B) P. Sen Gupta
(C) R.P. Mishra (D) R.S. Murthy

39. Among the following maximum annual rainfall is found at :

(A) Bhopal (B) Lucknow

(C) Hyderabad (D) Raipur

40. Which one of the following is not correctly matched ?

(a) (b)
(A) Tropical rainforest evergreen — Cinchona
(B) Tropical wet deciduous — Saal
(C) Delta forest —  Sundari
(D) Shola forest —  Casuarina
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38. fofafes 4 4 F wm % ofds wewimm & wafys & 2

(A) #m @ fag (B) . & =

(C) 3m. . fasn (D) =W TH W

39, Frefafas § maifus aiffs a9 e @& .

(A} e | (B) w@EEs |

(C) T=vEm # (D) TR H

40, f=fafas % 3 9 FEEE 98 § 2

(a) (b)
(A) IoRieEE woieT Wee 0 o—
(B) SOTHcA=E G qOdmr — A
(C) BwE = - wEd
(D) ¥ oA - dafen
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41.

42.

43.

Among the following the highest peak is :

(A) Namacha Barwa (B) Nanga Parvat
(C) Nanda Devi (D) Makalu

Rivers Kali and Tista make boundary of :

(A) Kumaun Himalaya (B) Assam Himalaya
(C) Nepal Himalaya (D) Punjab Himalaya

Which one is not correctly matched ?

(a) (&)
(A) Dehang-Debang —  Meghalaya
(B) Simlipal —  Orissa
(C) Manas —  Assam

(D) Hemis — J&K
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41, frefafen # waifvr S98 = o ¥ .
(A) A= @ (B)
(C) F=1 & (D)
42. et aan o Afeal g owedt € -
(A) wEe femea .(B)
(C) =g fesmer (D)
43. frfafas § s gifoa @ & ?
(@)
(a) Tegm-gam -
(B) Fisigs -
(C) wFE -

(D) &= -
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44.

45.

46.

47.

Which one is correctly matched ?

(a) (b)
(A) Rajeev Gandhi Airport — Bhopal
(B) Lal Bahadur Shastri Airport - Allahabad
(C) Chaudhari Charan Singh Airport — Varanasi
(D) Swami Vivekanand Airport — Raipur

The least sex-ratio state is :

(A) Haryana (B) Jammu & Kashmir

(C) Sikkim | (D) Punjab

Which one is the example of large scale map ?

(A) A cadestral map (B) A thematic map

(C) A wall map (D) An atlas map

Which of the following is the type of remote sensing on the basis of platform ?
(A) Air borne remote sensing (B) Active remote sensing

(C) Passive remote sensing (D) Infrared remote sensing
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44. Froifefem § =9 gifmg & 2

(A)

(B)

(C)

(D)

(a)
Teig Al famE T
e @egl v faEE 9
= wroiEs faaE oA

@t fagwm= faam 994

45. A9 fETHEm A T %

(A)

(C)

wftamm

fafass

(b)

46. G gEd WM W AEMEA F OT|WEW § 2

(A)

(C)

47. Trofafms § ¥ 37 <2wM 5 A8F W G5 F464 F UEK § 7

(A)

(C)

Y-HeIg AFfad

ZEn AEtEs

A HET HAGA

fafeFa Fey 995
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(B) Tuitfew wmfas

(D) Tw==g grefEs

(B) Hfey ggT Hosd

(D) a7Ea Hat dasA
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48. What is the spectral range of human eye ?
(A) 0.3 to 0.7 micron (B) 0.4 to 0.7 micron

(C) 0.3 to 0.9 micron (D) 0.2 to 1.0 micron

49. Match the following :
Nature of data Techniques
(@) Growth of population 1. Choropleth

(b) Age and sex composition of* 2. Pie diagram

population

(¢) Density of population 3. Line graph

(d) Occupational structure of 4. Population pyramid
population
(@) (b) (e) (d)

(A) 4 3 1 2

(B) 3 2 1 4

(C) 3 4 1 2

(D) 1 2 4 3

50. Which of the following is not based on all the observations ?
(A) Arithmetic mean (B) Harmonic mean

(C) Weighted mean (D) Mode
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48, WHAA A ¥ Wagd ofer 7 ¥ 2

(A)

©)

0.3 ¥ 0.7 HWEHME

0.3 ¥ 0.9 HEFH

49. Sfua foam #ifw .

(@)

(&)

(¢)

(d)

(A)

(B)

(€)

(D)

g w wHA

seen gfe

SEE & oang a9 fem

Gl

Y g9E

TS F =EGigE S
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1
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3
2
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2
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AFAS

i fafy

% ANE

@& T

wsaey frfge
(e) | (d)
1 2
1 4
1 2
4 3
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(A)

(C)

S Ay
wifta wreg
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